MATH 2460 EXAM 2
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Answer the following questions (2pts each) correctly (NO decimal answer!) for a full credit.
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(Ipoint) 1. Evaluate / ze® dz (show work for a full credit!)
0

ﬂ':y Ju-_—_—
/L”,re e de = x e —e” Fco

= 56\*-//%5'
Nsus [@xé")

i
o

(4}
e’ 11

2 :
2. Find the length of the curve y = §(x2 +1)*2 over [0, 3].
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3. Set up and evaluate the definite integral for the area of the surface generated by revolving the

curve y.= §m3 about the z-axis, with 0 < x < 3. Show all your work to get a full credit!
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4. Evaluate / (sin®*z + 1) dz.(show work for a full credit!)
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5. Evaluate
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6. Evaluate fv4 —z2dzx
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